OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O}
" CELFD

(Dl

- RQNXUHQFID

&KiRSFyZ P GRZRIQ\

Dl
/WVID VIDUIRZD ((LPLQDFIH

6HUD ]

.5=(z,66., 3DINN
-8580 %DUNRPLHI
6=<0&=%. 5DID;
/7% UI\VIIRI
)$/$&,66 ., ODFHI
3&.8/ = INIRU
§=,(5=%,1 ODUHN

6HUD ]

%85=<&6_, .DPI)
=$0.2:6., 3UHP\ViDZ
%,(& .DPU

58"=,86., ODIHN

= <6=<&6., "DQIH!
-$%326&6 ., ODIHXV]
-20&,(/$. $GDP
%$*52:6., .DIR)

6HUD ]
z 22" $58=$%. 6]\PRQ
5=(7(/6., .DPU
%(6$5%%$ .DPI)
52-(. OLFKDi
3(5.2:6., "DZIG
2/(&+12 3RW
7<085$ .DPL
-$6,/(= 6., 5DIDi

GHUD ]

0,&+$/6 ., %DUIRV]
0,&+%$/%. 3R
672/$5&=<. .DPl
3,$7.2:-6., ODIFQ
/,6 3UJHP\ViDZ

-$5 - $/% ODFHI
-$5:-$7 _U]\V]IRI
-$/,1% 5DGRViDZ

6HUD ]
6,8"=,86., "DZIG
5%$"=,6=(z6., -DNXE
&+&0 -DNXE
6%/ = $ 3IRI
0$" (- -DQ
%8/% ODUFLQ
3$:/,6,%. DRI
=$/( - 6., 5DIDi

SRN XU

3ICIQDVIND $48%$ %\GJRV]F]
6a2:-,$1.% *RU]lyZ =INS
§/A6 . = RFDZ

-25"$1 _IDNyZ

8.6 026 (N

T2/,%25= -DW]DZD
2/,03,-&=<. 6XZDiNl

6 .53 %HiFKDIyZ

00 .6 .CG]HII\Q -RTH

= $57%$ 3R]QDE

25=(a (lElaJ

/A6 . - RFiDZ

3(CIQDVIND $48%$ %\GJRV]F]
= $57$ 3R]QDE

*(/),1 7TRIXE

3,5$1,( /XEQ
§/A6. = RFiDZ
0.3 6]F]HFIQ

17
17
17
17
17
17
17

17
17
17
17
17
17
17
17

17
17

2$56=%:,$1.% - RGQ\ 3DUN

-89(1,$ %.DAVIRN
%$725< GRNyIND

* /86 *UIRZIFH

=271, . %HVN 3RGIDVNL

25/, . /7XElQ

17
17
17

26752%5$06.$ - DW]DZD
= 2"1,. 6HPLDQRZIFH §laVNLH

32/21,% =DW]DZD
$9,$ §ZIGQIN
-25"$1 _IDNyZ
1$ = $ 6NHIQIHZLFH
%2%5< " CELFD

25=(a (Elal

=271, %HVN 3RGIDVNL
6.$53% /XEIQ

6$/26 &257,/( -HFH
6$/26 &257,/( -HFH

- 2"1,. 6lHPLDQRZLIFH §laVNH
$67520%/ $. -$:-,7 /HV]QR

-$*,(//21_.% -DW]DZD

6SIDVK OHHIi ODQDJHU %XLG

SHILVIHUHG IR 3RILVK 6ZLP PLQJ )HGHUDILRQ

6IURQD



OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O} (Dl
" CELFD

-RONXUHQFID  &KiRSFyZ P GRZRIQ\ ((LPLQDFH

6HUD ]
=$:-$"=_, $6UDQ 3261%1,% 3R]QDE
.2=,2a -DNXE 6+$5. 5XGQD
6= 8*,(5 -DNXE 75T-.$ ayGl
6$-"$ 3DZHi - $1.$1 /HIQIFD
-(5=<é6., .RQUDG 75T-.$ ayGl
*1,$="2:6., -HU]\ z2"1,. 5DZIF]

.$5&=(01< ODIHXV]
6,(1.,( = ,&= -DNXE

6HUD ]

)8.6 DPL
026&,&., -DQ

5%$&=.2:-6_, 3R "DQLHI

=<&+ NDPL
3%"a2 .DPU
-$1,&., - RIFHFK
%$1%$6,$. %DUIRV]
2$/&=$. $HNV

6HUD ]

$8*867<1,$. _HYLQ
T$&=( . -HIHPL
5<%$ . axNDV]
086=7$)$*$ 3RI
6.$5=<66., "RPIQN
3,6.25 OLFKDi

5%$7%$-&=%. 7\PRIHXV] 62

=$5<&=1< 3R

6HUD ]

-2=%.,(:-,&=-DQ
&+83_.% 5DGRVIDZ
5%$~/,66., JQDF\
*3a2:-,$. "DPLDQ
3$68/$)lIS

72 .$5&=<. .DFSHJ
- 2h1,$. 3RW
.$&=0$5(. &H]DI\

1
= $-&) (/7 -DNXE
58%%$6=.,( = ,&= $QGUIHI
%,(/$ .DP)
1,(0&=<. 7RPDV]
6,(51< 5DGRViDZ
.$5.87 .DPU
78.2:-6., &H]DI\
&+0,(/ -DFSHU

T2/,%25= - DW]DZD
6,1~ (O -$ 6RSRI

= 2"1,. 6IHPIDQRZIFH glaVNIH

73 2/,03,-&=<. $HNVDQGlyZ ayG

2/,03,-&=<_ 6XZDiN.

=, ., 1 %UTHVNR

= $57% 3R]QDE

076 .ZIG]1\Q

73 2/,03,-&=<. $H\VDQGlyZ ayG
2TDUyZ ODJRZIHFN.

"-T-.$025(1$ *GDEWN

26752%5%$06.$ - DIV]DZD

00.6 .CG]HII\Q -RTIH

0.3 6]F]HFIQ

3,1* - ,1< zDW]DZD
2TDlyZ OD]RZIHFNL

81,% 2GZICFLP

0260 7\FK\

,-6 _RQVIDQFLQ

-,/$12:-,$ -DW]DZD

25.% =DPRGii

6a2:,$1.$ *RU]yZ =INS
75T-.$ ayGl

-$1.$1 /HIQFD

-25"$1 .UDNyZ

$67520%/ $. -$:-,7 /HV]IQR

25.% /XEDE

-,/$12:-,$ -DW]DZD
3ICIQDVIND $48%$ %\GJIRV]F]
3ICIQDVIND $48%$ %\GJIRV]F]
00.6 .CG]HII\Q -RTH
,-$5 OLHIHF

$73 $XIXViyZ

O .3 6]F]HFLQHN

6SIDVK OHHIi ODQDJHU %XLG

SHILVIHUHG IR 3RILVK 6ZLP PLQJ )HGHUDILRQ

6IURQD



OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O} (Dl
" CELFD

-RONXUHQFID  &KiRSFyZ P GRZRIQ\ ((LPLQDFH

GHUD ]
5T7<é6., -$1 6.$/$5 - DW]DZD
6=<08/$ .DPU $9,$ §ZIGQIN
=$/(6., 3RW 6. 5% %HiFKDIyZ

0,(/&=$5(. IS
6$/$021 -RQDV]
68/,0$ )UIS
-$6=( - 6., ODUFIQ
62%27.% -DQ

]

=./. .DPU

3,(752& ODIHXV]
.5<&,% ODIHXV]
+228%, (& ODFIHI
5<.$&=(:z 6., 6]\PRQ
O$&,83% -DFHN
*2/8&=<. 6]\PRQ
+$~$§ ODIHXV]

1
)(/.6&=$. = RIFHFK
3$/8&+2:6., .RQUIDG
67(3,(é -RQUDG
- ,$752 6., SHPLIXV]
.52*8/6.,)lIS 62
3/$8+7% (Pl

-2a2"=,(-&=<. 3DII\N 62

81> (+(8(5 ODIHXV]

1
&+580&,& ., 2VNDU
.21,(&=1< %DUIRV] 62
5871,&., ODFHI
-85% ODFLHI
5(186= 3[R
.86.2:6_, $GDP
.51/ SUIXU
0$.2:6., %DURV]

1
7(/,&=$1 _U\V]IRI
&+5208&,86 ., -DQ
7$&=$66 ., %DUKRPLHI
+2a8% -DQ
/8" = ,&=%. 3RI
%,(/(&-, ,JRU
+$/,& ., ODFIHI
&=(&+ .DPU

6. 5% %HFKDIyZ
*T51,. 5DGIQ
-2"1,. 5DGRP
32/21(= = \VINyZ
32/21,% =DW]DZD

,.$5 OLHHF

25_$ &HFKDQyZ
.6=2 2VIIRZIHF §Z
5(.,1 = DW]DZD
=1,&= _RV]DIQ

O .3 6]FJHFLQHN
.251(5 =IHRQD *
= $57% 3R]QDE

6.6 *(/).1 ayGT
25.%$ 6RFKDF]HZ
32/21,% - DW]DZD

- $57% 3R]QDE

81,% 2GZICFLP
.25025%1 2IV]INQ
81,% 2GZICFLP
62.Ta5]HV]yZ

32/21,% - DW]DZD
81,% 2GZICFLP
/A6 . = RFDZ

26752%5%$06.$ - DW]DZD

62/(; /CERWN
25.$ &HFKDQyZ
62.Ta5]HV]yZ
z2"1,. 5DGRP

62/(; /CERWN
- $57% 3R]QDE
6+%$5. 5XGQD
$9,$ §ZIGQIN
6+%$5. 5XGQD
T2/,%25= - DWV]DZD
/A6 . = RFDZ
0.6 026 .DIRZIFH

6SIDVK OHHIi ODQDJHU %XLG

SHILVIHUHG IR 3RILVK 6ZLP PLQJ )HGHUDILRQ

6IURQD



